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strategy, player B should

32.Refer to Table -4, WhichmncomcistheNnhcth'bﬁum in this game?
a.  Up-Right
b. Up-Left
¢. Down-Right
d  Down-Left
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32.Refer to Table 4, Which Outcome js the Nash equilibrium jn this game?
a Up—R:g t
b p-Left
c. DOWH-R.Ighl
d  Down-Lep
33. Game theory s Important for undcrstandmg Which of the following market types?
L perfectly Competitive ang oligopolistic Mmarkets
ectly Competitive mhrkets but
€. oligopolistic but
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€13 it employs but not the size of its factory
Vary neither the size of jts factory nor the number of workers it employs.

Table 4
This table shows a game playell between two players, A and B. The Payofls in the table are shown as (Payoff

to A, PayofT 10 B)
B

 Right \ Left -
Up 2,2) | (5 0h)
A (1,3) (0, 0)

31.Refer to Table -4. [ player A chooses his/her best strategy, player B should
a. choose right and eamn a payoff of 2.
b. choose right and cam a payoff of 3
e choosclcﬁmdmapayofrofl
d chooulcnmdcunapayoﬂ‘ol'o
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21. Refer to Figure 5. The shape of the average total cost curve reveals information about
to entry that might exist in a monopoly market
the figure? :
a

the nature of the barmer
Which of the following monopoly types best coincides with
ownership of a key resource by a single firm

b. natural monopoly

C.  govemment-created monopoly
d.  a patent or copynight monopoly
22. Refer to Figure 5. The shape of the av erage total cost curve in the figure suggests an opportunity for a profit-
maximizing monopolist to take advantage of
a cconomies of scale
b. diseconomies of scale
€. diminishing marginal product
d  increasing marginal cost
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21. Refer to Figure 5. The shape of the average total cost curve reveals information about the natyre of the bamer

to entry that might exist in a monopoly market. Which of the following monopoly types best comncides with
the figure?

4. ownership of a key resource by a single firm
b. natural monopoly

& govemment-created monopoly

d.  a patent or copyright monopoly

22. Refer to Figure 5. The shape of the average total cost curve in the figure suggests an orpoﬁumty for a profit-
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d Marginal Fevenue is constant oyer the entire range of output.

29.Trevor’s Tire Company produced and so production per tire was $50. Each tire
sold for a price of §
a 7,500

b.  $25.000
c. $32.500
d

$67,500
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24.In a long-run equilibrium,
only a perfectly competitive firm operates at its efficient scale.
only a monopolistically compctitive firm operates at its efficient scale.

neither a competitivy firm nor a monopolistically competitive firm charges a markup over marginal
cost.

both a perfectly competitive firm and a monopolistically competitive firm operate at their efficient
scale of production.

25.In a market characterized by monopoly, the market demand curve 15
upward sloping.
horizontal.
downward sloping.
vertical.

26.A monopolist's average revenue is always

to marginal revenue. :
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27.Refer to Table 3 The price and quantity relationship in the table i1s most likely a demand curve faced by a firm

ina
a. monopoly
b. concentrated market
c. competitive market

d strategic market.
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26.A monopolist's average rey

4  equalto marginal revenye
greater than the
equal to the

less than the

S always

Price of its produyct
Price of its prodyct
Price of its product
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13.A profit-maximizing firm will shut down in the short run when
3. price is less than average vanable cost
price is less than average total cost

b.
€. average revenue is greater than marginal cost
d  average revenue is greater than average fixed cost

14.Which of the following is not a characteristic of a monopoly?
barmers to entry
one scller
one buyer
a product without close substitutes

15.If firms in a monopolistically competitive market are caming positive profits, then
a.  firms will likely be subjcc{:) regulation
b. bamers to entry will be strengthened
c.  some firms will exit the market
d.  new firms will enter the market
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Table 1
Charles’s Math Tulonng

| Number of Output (number
Workers of students tutored per
week)
0 0 AT
| 1 20 R
2 45 |
3 | sl 60 e,
4 70

3.Refer to Table 1. What is s the marbum] product of the third worker?
a. 15 students

b. 20 students
c. 35 students
d 60 students

4.Refer to Table 1. Charles’s math tutoning company expenences diminishing marginal productivity wath the
addition of the

a. first worker

b. second worker
c. third worker
d fourth worker
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9.Refer to Figure 2. To maximize total surplus, a benevolent social planner would choose which of the following
outcomes?

& Q=30andP =30

b. Q=30andP =60

c. Q=45andP =45

d Q=60andP =30

10.Rafer to Figure 2. To maximize its profit, a monopolist would choose which of the following outcomes?
a Q=30andP=30 I
b. Q=30andP =60
c¢. Q=45andP =45
d Q=60andP =30

Table 2
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Table 1

Charles’s Math ]%’
Number of Output (number

Workers of students tutored per

weck)

0

20

45

0
1
2
3

70
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18.Welfare economics is the study of how

4 the allocation of resources affects cconomic well-being
b. aprice ceiling compares to a price floor

¢.  the government helps poor people

d  aconsumer’s optimal choice af} fects her demand curve.

19.Fora monopolistically competitive firm, at the profit-maximizing quantity of output,
4. pnce exceeds marginal cost
b. marginal revenue exceeds marginal cost
¢. marginal cost exceeds average revenue
d  pnce equals marginal revenue

20.Which of the following is a characteristic of a monopoly?
a.  low fixed costs as a portion of togal costs
b. free entry and exit
c. bamers to entry
d  declming marginal cost
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a. lirst worker

b. second worker

c. third worker

d.  fourth worker

S.Firms operating in competitive markets produce output levels where marginal revenue equals

price
average revenue

total revenue divided by output
All of the above are correct.

6.Economists normally assume that the goa¥ofa fimm is to
(1) sell as much of its product as possible
(1) set the price of the product as high as possible
(1m1) maximize profit
a. (1) and (1) only
b. (i1) and (111) only
c. (i) only
d (1), (i1), and (111)
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Table 2 :
Price Quantity Quantity |
| Demanded | Supplied |
S0 250 |
$SEEN W20 \.
50 '

~§25

11.Refer to Table 2. A price ceiling set at $15 wzll
a  be binding and will result in a shortage of 50 units
b. be binding and will result i a shortage of 100 umts
c. be binding and will result in a shortage of 125 umts
d not be binding

12.Refer to Table 2. A price floor set at $20 will

a  be binding and will result in a surplus of 50 units
b. be binding and will result in a surplus of 100 units
¢. be binding and will result in a surplus of 250 units
d. not be binding
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7.Which of the following expressions is correct?
4. accounting profit = total revenue - explicit costs
b.  economic profit = total revenue - implicit costs
€. economic profit = total revenue - explicit costs
d  Bothaand b are correct.

8.The tax burden will fall most heavily on buyers of the good when the demand curve
a. s relatvely steep, and the supply curve is relatively flat
b. isrelatively flat, and the supply curve is relatively steep
¢ and the supply curve are both rcla[wc[y flat

d  and the supply curve are both relatively steep




